
ECUACIÓNS

EXERCICIOS (2)

1º Resolve as ecuacións:

aL 2 H4 x + 6L = 3 H2 x - 10L
bL 6 H3 x - 4L - 6 x = 5 H3 x + 1L - 10 x

cL 5 x - 2 Hx - 3L = 3 x + 12

d L 4 Hx - 3L = -2 H6 - 2 xL
eL 8 - x = 35 - 3 H5 x + 1L
fL 12 x - 2 H5 x - 3L - 14 = -2 x

gL 3 Hx - 2L + 6 x = 9 x - 6

h L -2 H25 - xL + x + 6 = 4 Hx - 5L + 10

iL 3 H2 x + 4L = 5 x - 12

jL -6 Hx - 2L + 8 x + 4 = 3 H-2 x - 5L + 8 x + 1

kL -4 H99 - 11 xL = 1584 - x

lL 5 H5 - 2 xL - 7 H2 x - 5L = 12

m L 12 Hx - 3L + 5 x - 3 H2 x - 1L = 22

nL 20-H3x-4L+7x = 10+3x-H15-2xL
ñL -4 H101 - 11 xL = 13 x + 3 H10 x + 1L
oL 4 H5 - 11 xL + 5 x = -18 x - 2 H10 x - 5L
pL x - Hx - 5L = x - H1 - xL
q L 5 Hx - 5L - 20 = - x + 2 H3 x - 2L - 41

r L 3 H5 x + 9L - 3 Hx - 7L = 11 Hx - 2L
sL 4 Hx - 5L - 2 Hx + 1L = 2 Hx - 2L
tL 4 H3 x - 10L = 7 Hx + 1L - 5 x

uL 5 Hx - 1L - 6 x = 3 Hx - 3L
v L 3 Hx - 1L - 2 x = 5 H2 - xL - 12

w L 2 Hx + 6L - 7 x = 8 - 2 x

y L 2 x + 4 = 6 Hx - 4L + 4 x - 12

zL -7 + 5 H-1 + xL - 2 x=-7 + 7 H-2 + xL - x
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3º Resolve:
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